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= 387,865
= 5,924,527
ANE=sg JIgtEy 2,151,490 903,650 1,247,840
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T 2,107,090
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01 At2t2lt] 25,840 20,840 5,000
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8,000&*x10E 0L« 12& 8,640
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01 =LHA LI 6,225 6,324 A9
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03 A=A PR FZ| 2,500 2,500
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= 11,250
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8,000,000 14] 8,000
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M ORINZZE2NSES 5,200 6,000 2800
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100,000 13X 1,300
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—4UEe= 183,289,000 *12% 21,99%
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M =E7|E
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= 2,400
s 2,400
206 M=l 700 1,430 AT30
= 350
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01 M=4l 700 1,430 AT30
OJIzus & 558 dEUS MEH|
350,000 23] 700
= 350
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301 EtEE S 3,200 2,400 800
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= 1,600
11 dALEBIXNIZE S 3,200 2,400 800
OJIzus & S8 dEUSs FIINEY
8,000& x100 *43] 3,200
= 1,600
o 1,600
g0l st =2 55,690 65,200 29,510
101 e124d| 16,090 19,200 A3,110
M ORNZZ2NSE S 16,090 19,200 23,110
OZ=gls 29 X 16,090
—JlZ2= 76,9603 x1H 132! 10,159
— St 2,0003 18 »132 264
—=4| 4,0002x1&»132& 528
—F5=4 76,9603 1 »275= 2,078
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03 A= &I 21,000 21,000 0
OstZ3=gls sty & 84
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O=E S| 510,000 =5CH 2,550
OQI&HHHED] 14,400,000 = 1CH 14,400
OgEa=+2) 4,775,000 =2CH 9,550
OEIHIAZI|(XHE) 8,000,000 *1CH 8,000
Ozl &l 100,000
—S0I1AE 35,000,000 = 1CH 35,000
—XIAXH2.9t) 50,000,000 = 1CH 50,000
—dotXEECIRE 15,000,000 »1CH 15,000
SIA c=&H| M XI& 73,320 73,300 20
= 22,000
[Ea 51,320
405 KHoHFSHI 73,320 73,300 20
=S 22,000
s 51,320
01 Tt =S F=HI 73,320 73,300 20
Oz2eldl 2,500,000 «8CH 20,000
< 6,001
Ea 13,999
om=o|(&eldlg) 760,000 8CH 6,080
= 1,825
o 4,255
OFME RN (R4 20,860, 0002 =2CH 41,720
s 12,518
s 29,202
OEMERIN(EHEHUS)
2,760,000 2CH 5,520
= 1,656
= 3,864
s XS 165,840 220,000 A\54,160
S 82,920
o 82,920
405 AtaHE = 165,840 220,000 /54,160
== 82,920
o 82,920
01 Tt =S F=HI 165,840 220,000 AB4,160
OE=H 35,270,000 »1CH 35,270




2A:

X XH -
o=

=EXE 4

SEXNE

Sl SI|H DAXAME 2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 17,635
s 17,635
OZEtHI0IE 7,500,000 +2CH 15,000
= 7,500
Ea 7,500
omsJ| 16,700,000 »1CH 16,700
== 8,350
[Ea 8,350
O34l 98,870,000 *1CH 98,870
= 49,435
= 49,435
== S A K= 200,000 200,000 0
= 100,000
o 100,000
405 AtaHE = 200,000 200,000 0
= 100,000
o 100,000
01 Tt ESF=HI 200,000 200,000 0
SHUFOI(SEM=II)
16,000,000 *3CH 48,000
= 24,000
= 24,000
O=41(1t) 28,600,000 *5CH 143,000
= 71,500
o 71,500
OFME=IN(EHAHAAEH)
3,000,000 «3CH 9,000
= 4,500
s 4,500
=OHR 2201 HE K2 400,000 400,000 0
= 200,000
Ea 200,000
405 KHoHFSHI 400,000 400,000 0
= 200,000
s 200,000
01 TR =SFISHI 400,000 400,000 0
O==21(3tte) 85,000,000 »2CH 170,000
= 85,000
[Ea 85,000
OEE|(800+) 85,000,000 +2CH 170,000
= 85,000
= 85,000
OZEHHIOIE 9,500,000 *2CH 19,000




2A:

=EXE 4

B ==K
Sl SI|H DAXAME 2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 9,500
s 9,500
OW&EIN(4Zx) 20,500, 0002 +2CH 41,000
= 20,500
Ea 20,500
HY2EHH(sEXZ D) 424,872 420,775 4,097
eIH2HH(sEX|D) 216,722 272,865 3,857
A2 (sEXIAL) 276,722 272,865 3,857
101 @124H| 276,722 272,865 3,857
01 &2 113,767 110,507 3,260
OAlteI22+8 111,865
—XEAH(1SS014)
11,6192 2 +50A1 2t 123 13,943
— XS AH20&S0I5tH)
10,888 x 13 *50Al 2t 12 84,927
—dEFH 2L
11,6642 x 1 +50A1 2+ 123 6,999
—8= 9,992 1H+50Al 2+ 123 5,9%
(@FsEV Falsl 111,865,000 *1. 7% 1,902
02 JIEtX == 5,812 5,644 168
OAlIRAZ 25 5,714
— I (=3)
9,523 1H*50A| 2+ 123 5,714
OXMSIH&HI 5,714,000 *1.7% 3]
03 SR (RIH )22+ 157,143 186,714 429
Ost=SEIIS4HEH 22l 6,582
—7SZ(8A) 3,276
A2t =
18, 1992 x 1 *1BAI1 2H 123 3,276
-85S (8 &A) 3,306
A2t a=g
18,365 x 1+ 1BAI 2t 122 3,306
OsJ1HE 180,561
—7ss(ge) 3,587
- A=
19,0771 *1BA1 2t 123 3,434
] 152,616 1+ 183
— 155 S (S 0) 146,974
- A2tels=&
19,6282 x 132 +24A| 2+ 123 73,488
] 157,020 x 13 362 73,486
Jl2gbl(sEX|) 148,150 147,910 240
JlE2ZHl(sEX|M) 131,970 133,810 1,840
201 Ler23 | 114,070 114,490 A420




SN SETNRD
M HYRAZH(SEXEL)
ol J|2dHI(sEX|AD) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 64,870 54,690 10,180
otlz2gdiuz 330,000& x 172 5,610
Od &l F A2 +=HI
10,000,000 * 14 10,000
OLA=L(SN) 60,0002 *116& 6,960
O=Z=g(3Y) 60,0003 x365& 21,900
OAIRI17] 28 (&)
220,000 45« 123 10,560
2 R=2(SN) 200,000 2 *12& 4,800
OJIEt AR ES ¥ 2gHI(SN)
5,040,000 5,040
2 35244l 49,200 59,800 10,600
Os=U 216,660 x12CH* 122 31,200
O&Exte ==2lbl 500,000& *12CH 6,000
OXsEi 2= 750,0003 % 12CH 9,000
OXIS XAl 150,000 * 12CH 1,800
U= 5= 100,000 * 123 1,200
202 04l 12,000 12,000
01 =LHAHI 5,400 5,400
SEXR 22 F7(5H)
300,0003x1&+12& 3,600
OHTAIZ(ZNH) 1,800,000& 1,800
02 FHNH 6,600 6,600 0
O=gol NS F=8(SH)
550,000& 122 6,600
203 HR=H| 5,100 7,320 N2,220
M A2 LRFEI 5,100 5,160 260
ORNEgg =AY 5,100,000& 5,100
405 KHoHFSHI 800 800
01 ML ESFSHI 800 800
OAHILIOIOIA 72 800,000 *1CH 800
JlE2Zbl(sgo1=4dd) 16,180 14,100 2,080
202 04| 4,800 4,800 0
01 =LHO LI 4,800 4,800 0
s2IEXE IR =T (SH)
400,000 «1H« 122 4,800
203 HR=AH] 11,380 9,300 2,080
01 V22 HRFA| 4,300 4,300 0
OJ|a2=gg A 4,300,000 4,300
02 3t R S| 2,080 0 2,080
OFAINIE R 2,080,000& 2,080
03 A=A 2= 5,000 5,000 0
OAIBF AR =] 5,000,000 5,000




